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DHET 888  33.14 0 0 1490 0
@537z 857|  33.03 0 0 0 0
B=Vik 8.15|  33.16 0 0 0 0
@B F s - - 0 0 0 0
OXEHFE 8.59]  33.29 0 0 0 0
®FR 8.88] 32.86 0 0 0 0
DEE 8.42] 3303 0 0 0 0
®EE - - 0 0 0 0
QTE - - 0 0 0 0
WOXR - 0 0 0 0
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OEE QAR Q=Y |(DEHIF OXEHAGCERE (OES |®FE (OFE [(OXR
9H28H 0 50 20 0 20 20 130 - - =
1085H 0 0 0 0 0 20 0 0 20 0
108 13H 10 20 0 10 20 0 60 - - -
10H19H 20 20 0 - 0 20 0 = = -
10826H 40 40 0 40 20 0 10 - - -
11848 60 10 10 0 30 0 0 0 0 0
11H10H 360 70 0 0 160 0 0 - - -
11H16H 1150 500 20 0 80 0 0 = = -
11824H 790 790 10 50 40 30 0 = = -
1281H 20 0 0 - - = = 0 0 0
1287H 20 0 0 0 0 0 0 - = -
12H14H 50 0 0 0 0 10 0 = = -
12821H 210 0 0 0 0 0 0 - = -

201551858 230 0 0 0 0 10 0 0 0 0
1H12H 10 0 0 0 0 0 0 = = -
1H25H 50 0 0 0 10 0 0 - - -
281H 110 0 0 0 0 0 0 0 0 0
2H8H 140 0 0 0 0 0 0 = = -
28178 60 0 0 - 0 0 0 = = -
2H22H 20 0 0 0 0 0 0 - - -
3H2H 10 0 10 0 0 0 0 0 0 0
387H 0 0 0 0 0 0 0 0 0 0
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OBE |QRAH |QZVIR |[DEHIF (OXSHACEE (OEE |@FE |OFE [(DXR
9H28H 0 0 0 0 0 0 0 = = -
10A5H 0 0 0 0 0 0 0 0 0 0
10813H 0 0 0 0 0 0 0 = = -
108 19H 0 0 0 - 0 0 0 - - -
10H26H 0 0 0 0 0 0 0 = = -
1184H 0 0 0 0 0 0 0 0 0 0
11H10H 0 0 0 0 0 0 0 = = -
11816H 0 0 0 0 0 0 0 - - -
11H24H 0 0 0 0 0 0 0 = = -
1281H 0 0 0 - - - - 0 0 0
1287H 0 0 0 0 0 0 0 = = -
12H14H 0 0 0 0 0 0 0 - = -
12H21H 0 0 0 0 0 0 0 = = -

201551858 0 0 0 0 0 0 0 0 0 0
1812H 0 0 0 0 0 0 0 = = -
1825H 0 0 0 0 0 0 0 = = -
281H 0 0 0 0 0 0 0 0 0 0
2H8H 0 0 0 0 0 0 0 - - -
2817H 0 0 0 0 0 0 0 - - -
2H22H 0 0 0 0 0 0 0 - = -
3H2H 0 0 0 0 0 0 0 0 0 0
387H 0 0 0 0 0 0 0 0 0 0
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OEH |(@QAR Q=Y |(DEHIF |OXEHACERE (DES |®FE (OQFE |[(OXR
9H28H 0 10 0 0 0 0 0 - - -
1085H 0 0 10 0 0 0 0 0 0 0
108 13H 20 10 0 0 0 0 0 - - -
10H19H 0 0 0 - 0 0 0 = = -
10826H 30 0 0 0 0 0 0 - - -
1184H 100 0 0] 0 0 0 0 0 0
11H10H 80 0 0 0 0 0 0 - -
11816H 130 0 0 0 0 10 0 - - -
11824H 290 10 0 0 10 0 0 - - -
1281H 170 0 0 - - - = 0 0 0
1287H 140 0 0 0 0 0 0 0 0 0
12H14H 140 0 0 0 0 0 0 0 0 0
12821H 170 20 0 0 0 0 0 0 0 0

20155 185H 1190 10 0 0 0 10 0 0 0 0
1H12H 280 30 0 0 0 0 0 - - -
1H25H 600 0 0 0 10 0 0 = = -
281H 1580 10 0 0 0 0 0 0 0 0
2H8H 1330 30 0 0 0 0 0 = = -
28178 380 10 0 - 0 0 0 - = -
2H822H 640 10 20 0 0 0 20 = - -
3H2H 1870 30 10 0 0 0 0 0 0 0
387H 1490 0 0 0 0 0 0 0 0 0




